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1. (A) Hdlaedl 24 2 d-l aael yul. | 6
Discuss the meaning and features of Capitalist Economy. /
2AY4/OR

(B)

(€)

20 (A)

(B)

NEFI11S

AHAL Aelda 2ed g 2 Al AsudstAl 2 Al
What does Federal Finance mean ? Discuss the problems of Federal Finance.

25 ugladl 28 24 dAL stal 24l 4
Discuss the meaning and functigns of an economic system.

AHYAYOR _
(1) AHdla 2ielwyah, (2) Slads] 2AesuA 24 (3) Yidaal sielust ur 25l
A4 Quil. '
Write a short note on (1) balanced budget (2) deficit budget and (3) surplus budget.

(1) w20l gl (2) e Al 24 (3) dRist?] dqil YR ¢80 -id vl 4

Write a short note.on (1) Private goods (2) Public goods and (3) Merit goods.
A1Y4I/OR

(1) Héydl vueL (2) «ze viter (3) A sA vier 24 (4) walbis viadl il

A¥ondl.
Explain the meanings of (1) Revenue deficit (2) Budget deficit (3) Fiscal deficit
and (4) Primary deficit.

UE A uRla sl 20 queadl o d sl alcuaet Yl 6
Explain the meanings of direct tax and indirect tax and discuss merits and demerit
of any one of them.

AY4/OR

ARdAL sSAviLAL vi{lAl saldl d- g2 sA1L Y-l eual.
Show the defects of Indian tax structure and give suggestions to correct them.

(1) wotlaslla s2d21 (2) quHel 52431 24 (3) [GUHIA 52431 uR &5l Y auil. 4
Write a short note on (1) Progressive tax (2) Proportional tax and (3) Regressive
tax.

HY4l/OR

alRdHl 5421 Hlla- Yoy Geal Al
Explain main objectives of Tax Policy in India.

1 PTO



(C) SRARL 2 s2e1meirl 248 2 dstadl Y3l | '
Discuss the meanings of Tax Evasion and Tax Avoidance and differentiate betwee

them. '

AYA/OR S
6

“53431 i 2UEs [Qsn” sies yal.
“Taxation and Economic Development™ critically discuss.

3. (A) 9eR WAL 2 i dAl Geal AHAAL.
Explain the meaning and objectives of Public Expenditure.
2A%4/OR

GHIRAML UYL USRIl 2uasL WAl el
Discuss the sources of Revenue for the State Governme

(B) HRdul gz WAl gla sizei-l aal s:i.
Explain reasons for the growth of Public Expe
2Y4dl/OR

MeR AUl [AlHde 24 wiellsze
Discuss merits and demerits of
Enterprises.

YL,
rivatization of Public

(C) “clRd™i FRBM $14el” 4 @vil. 4
Write a note on “F
AYA/O
QoS i (G-
Write a note on * iture and Non-planned Expenditure.”
4.  (A) AR sl 21 Honal. 6

Explain

2 GlLEL N8R edlHl elly” wHAAl.
al Public Debt and External Public Debt.” Explain.

. il

2 Bt Bades 24 @i (2) dsu0Uq A aiowonoud 24 uuondl. 4
) Productive and Unproductive debt and (2) Short term and Long term

2441/OR
53R Vi MER £Al ARAAL dSladl Al
Discuss the differences between Taxation and Public Debt.

(C) “aidlRs e sl ol AU Udl Uz wAdl asidl Adl” w. a-d4 ¥ded 2ul. 4
“The burden of internal public debt cannot be shifted to future generation.” Discuss
Prof. Lerner’s opinion.

AY4l/OR
(1) MDAl 2 $532UId e 21 (2) 2dR S 2 cua g uuAdl.
Explain : (1) Voluntary and Compulsory debt and (2) Internal and External debt.
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5. olglased usil | | 14
Multiple Choice Questions : '
(1) DEA-nie s sami ydlael 2eda © 2

(a) ™IRd (b)) bR
(c) H3Tlsl (d Al
~ Which of the following Country has capitalist economy 7"
(a) India (b) Pakistan
(c) America (d) China
2) DaAAriiel 59 Mé Rq © ?
(a) ol (b) [&%
(c) olul (d) esleLL Hsi-l
Which of the following good is Public Good ?
(a) Bread (b) Fndge

(c) Bridges (d) Residential hou

(3) 2l s34 velust S2o-{ld ¢ ?
(a) vlEdlY] (b)
(c) uHdlA (d)

What type of budget is desirable during d
(a) Deficit budget . :
(c) Balanced budget “the above

(4) dal 4zl
(a) W& 52 . s 52 .
c) [Bumid 52 ©. [Qle 52 .
Service tax 1s a '
Indirect tax

(a) Direct tax
(c) Regressive (d) Specific tax
(5) $RalFl

(a) 5142y (b) [Bsuzu .
(d) Gu- 2lsusl Al

(b) Illegal
(d) None of the above

sUlo wlasl siduel Autdl vz 5291l 82 HsURL ld AR d-
dlalla 52421 56 ©. (b)) [Buud 5241 s¢ 9.
13l 241 58 . (d) Gud 2isumL -l

- of a tax remains the same irrespective of the size of taxable income, 1t 1s

Progressive tax (b) Regressive tax
(c) Proportional tax (d) None of the above
YE A1l
(@) Gcues -l (b) wsed HBaAd 9.
c) wHBd . (@ Al Ad el uddl dl.
Direct Taxes are
(a) not productive (b) most certain
(c) uncertain (d) not paid directly
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(8) [(Hesdi-l Aleigl Hadl 2uas 514 1ol & 2

(a) 3% ASIRA (b) AP AVSIRA
(c) ®AluldA (d)  AH Y2A1™d-
Who will get Revenue from Property transactions ?
(a) Central Government (b) State Governments
(¢) Municipality (d) Gram Panchayat
(9)  clerl 2 vyl uAL 42l 2098 S ¥ ) 9
(a) 5% SR (b) AR ASIRA
() H{lulxdA (d)  Aldaiid
Who will get Revenue from Taxes on Vehicles and Animals ?
(a) Central Government (b) State Governments
(c) Municipality (d) Individuals
(10) 2uas dzidl 2ds si4 34 ¢ 2
(a) %% U (b) AW ¥ 5134
() A4 (d) AUH Y=2AUAAA
Who will get the Revenue from Income Tax 2
(a) Central Government (b)» State Governments
(¢) Municipality (d)« Gram Panchayat
(11) U104, Aawa (& uz-L w5121 Wal
(a) Gewesly Wiy . (b)" BrBaue sla v 9.
(¢) stHl W . (d) [t glusly wal .
Government expenditire on Health, Research etc., are
(a) Productive expenditure (b) Unproductive expenditure
(c) Futile expenditure (d) Non-planned expenditure
(12) o A517] alt 22 Elsl gl MR 204 dl d-
(a) idRs2d 5¢ . (b) divuod 2 sé €.
(c) gstuou e, s . (d) oual eq $¢ .
If a loan is subscribed to by the citizens of a nation, it is a case of
(a) [ntemal debt (b) long term debt
(c) short term debt (d) external debt
(13) %2 Al oo el 14 uz WA w5 6. 21 Hd
(a) " SR ©. (b) @+ .
(c) 8y 3{lu- . (d) Guadid 2lsysel Al
“The burden of public debt can be shifted to future generation” This is the view of
(a)© Buchanan (b) Lerner
" (¢) Adam Smith | (d) None of the above
(1) U2 AR dlsl Wl Gl el d cud dlsl-dl wleald
(a) “edl WA (b) a4l W
(c) [4d2 9. (d) ledl % W ©.
When the Government borrows money from people, the purchasing power of
people
(a) getreduced (b) get increased
(c) get expanded (d) get remains the same
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